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1. An example of a direct agency cost is

a. a manager turning down a value-contributing project because of its risks.

b. a manager expensing a large dinner on the company expense report.

c. a manager using too little debt within the firm’s capital structure because of the additional risk associated with debt.

d. all of the above
2. Which of the following can help align the behavior of managers with the goals of shareholders?

a. management compensation

b. managerial labor markets

c. an independent board of directors

d. all of the above
3. Tumbling Haven, a gymnastic equipment manufacturer, provided the following information to its accountants. The company had current assets of $145,332, net fixed assets of $356,190, and other assets of $4,176. The firm has long-term debt of $76,445, common stock of $200,000, and retained earnings of $134,461. What amount of current liabilities does this firm have?

a. $94,792

b. $505,678

c. $171,217

d. none of the above
4. Teakap, Inc., has current assets of $ 1,456,312 and total assets of $4,812,369 for the year ending September 30, 2006. It also has current liabilities of $1,041,012, common equity of $1,500,000, and retained earnings of $1,468,347. How much long-term debt does the firm have?

a. $1,844,022

b. $2,303,010

c. $2,123,612

d. $803,010
5. Chandler Sporting Goods produces baseball and football equipment and lines of clothing. This year the company had cash and marketable securities worth $335,485, accounts payables worth $1,159,357, inventory of $1,651,599, accounts receivables of $1,488,121, short-term notes payable worth $313,663, and other current assets of $121,427. What is the company’s net working capital?
a. $3,596,632

b. $1,801,784

c. $2,123,612

d. $1,673,421
6. Tre-Bien Bakeries generated net income of $233,412 this year. At year end, the company had accounts receivables of $47,199, inventory of $63,781, and cash of $21,461. It also had accounts payables of $51,369, short-term notes payables of $11,417, and accrued taxes of $6,145. The net working capital of the firm is

a. $68,931

b. $63,510

c. $69,655

d. none of the above
7. Spartan, Inc., is a manufacturer of automobile parts located in Greenville, South Carolina. At the end of the current fiscal year, the company had net working capital of $157,903. The company showed accounts payables of $94,233, accounts receivables of $83,112, inventory of $171,284, and cash and marketable securities of $12,311. What amount of notes payables does the firm have?

a. $14,571

b. $26,882

c. $15,471

d. none of the above
8. Centennial Brewery produced revenues of $1,145,227 in 2008. It has expenses (excluding depreciation) of $812,640, depreciation of $131,335, and interest expense of $81,112. It pays a marginal tax rate of 34 percent. What is the firm’s net income after taxes?

a. $120,140

b. $248,475

c. $79,292

d. $40,848
9. Simplex Healthcare had net income of $5,411,623 after paying taxes at 34 percent. The firm had revenues of $20,433,770. Their interest expense for the year was $1,122,376, while depreciation expense was $2,079,112. What was the firm’s operating expenses excluding depreciation?

a. $8,199,429

b. $9,032,853

c. $9,321,805

d. none of the above
10.
Triumph Trading Company provided the following information to its auditors. For the year ended March 31, 2008, the company had revenues of $1,122,878, operating expenses (excluding depreciation and leasing expenses) of $612,663, depreciation expenses of $231,415, leasing expenses of $126,193, and interest expenses equal to $87,125. If the company’s tax rate was 34 percent, what is its net income after taxes?

a. $43,218

b. $65,482

c. $152,607

d. none of the above
11.
Parrino Corporation has announced that its net income for the year ended June 30, 2008, is $1,824,214. The company had an EBITDA of $ 5,174,366, and its depreciation and amortization expense was equal to $1,241,790. The company’s tax rate is 34 percent. What is the amount of interest expense for the firm?

a. $2,763,961

b. $939,747

c. $1,187,720

d. $1,168,615

12.
What will be a firm’s equity multiplier given a debt ratio of 0.45?

a. 1.82

b. 1.28

c. 2.22

d. None of the above

13. 
Dreisen Traders has total debt of $1,233,837 and total assets of $2,178,990. 
What are the firm’s equity multiplier and debt-to-equity ratio?

a. 2.31;
1.31

b. 1.75;
0.75

c. 0.75;
1.75

d. 1.31;
2.31

14.
RTR Corp. has reported a net income of $812,425 for the year. The company’s 
share price is $13.45, and the company has 312,490 shares outstanding. 
Compute the firm’s price-earnings ratio.

a. 4.87 times

b. 8.12 times

c. 5.17 times

d. None of the above
15.   
Perez Electronics Corp. has reported that its net income for 2006 is $1,276,351. 
The firm has 420,000 shares outstanding and a P-E ratio of 11.2 times. What is 
the firm’s share price?

a. $34.05

b. $3.68

c. $11.20

d. $36.80

16. 
 Juventus Corp has total assets of $4,744,288, total debt of $2,912,000, and net 
sales of $7,212,465. Their net profit margin for the year is 18 percent. What is 
Juventus’s ROA?

a. 25.6%

b. 18%

c. 27.4%

d. None of the above

17. 
GenTech Pharma has reported the following information:


Sales/Total assets = 2.89; 
ROA = 10.74%; 
ROE = 20.36%

What are the firm’s profit margin and equity multiplier?

a. 7.1%;
0.53

b. 7.1%;
1.90

c. 3.7%;
0.53

d. 3.7%;
1.90

18. 
Tigger Corp. has reported the financial results for year-end 2006. Based on the 
information given, calculate the firm’s gross profit margin and operating profit 
margin. 
Net sales = $4,156,700

Net income = $778,321


Cost of goods sold = $2,715,334
EBIT = $1,356,098

a. 34.7%;

32.6%

b. 32.6%;

18.72%

c. 34.7%;

18.72%

d. None of the above

19. 
Andrade Corp has debt of $2,834,950, total assets of $5,178,235, sales of 
$8,234,121, and net income of $812,355. What is the firm’s return on equity?

a. 7.1%t

b. 34.7%

c. 28.1%

d. 43.2%

20. 
Saunders, Inc., has a ROE of 18.7 percent, an equity multiplier of 2.53, sales of 
$2.75 million, and a total assets turnover of 2.7 times. What is the firm’s net 
income?

a. $75,281.80

b. $514,250.00

c. $51,425.00

d. $7,528.10

21.
Sorenstam Corp has an equity multiplier of 2.34 times, total assets of $4,512,895, a ROE of 17.5 percent, and a total assets turnover of 3.1 times. Calculate the firm’s ROA.

a. 6.23%

b. 4.53%

c. 7.48%

d. 5.79%

22. 
Brittany Willis is looking to invest for retirement, which she hopes will be in 20 
years. She is looking to invest $22,500 today in U.S. Treasury bonds that will 
earn interest at 6.25 percent annually. How much will she have at the end of 20 
years? (Round to the nearest dollar.)

a. $68,870

b. $50,625

c. $75,642

d. None of the above
23. 
Your brother has asked you to help him with choosing an investment. He has 
$5,000 to invest today for a period of two years. You identify a bank CD that pays 
an interest rate of 4.25 percent with the interest being paid quarterly. What will be 
the value of the investment in two years?

a. $5,434

b. $5,441

c. $5,107

d. $5,216

24.
 Normandy Textiles had a cash inflow of $1 million, which it needs for a long-term 
investment at the end of one year. It plans to deposit this money in a bank CD 
that pays daily interest at 3.75 percent. What will be the value of the investment 
at the end of the year? (Round to the nearest dollar.)
a. $1,211,375

b. $1,000,103

c. $1,037,500

d. $1,038,210

25. 
Your mother is trying to choose one of the following bank CDs to deposit 
$10,000. Which one will have the highest future value if she plans to invest for 
three years?
a. 3.5% compounded daily

b. 3.25% compounded monthly

c. 3.4% compounded quarterly

d. 3.75% compounded annually.

26.
The return distribution for an asset is as shown in the following table. What are the missing values if the expected return is 10 percent?

	Return
	Probability

	 
	 

	0.1
	0.25

	x
	0.5

	x
	0.25


a. 0.20

b. 0.15

c. 0.10
d. None of the above 

27.
The expected return for Stock Z is 30 percent. If we know the following 
information about Stock Z, then what return will it produce in the Lukewarm state 
of the world?

	 
	Return
	Probability

	 
	
	 

	Poor
	0.2
	0.25

	Lukewarm
	?
	0.5

	Dynamite!
	0.4
	0.25


a. 20%

b. 30%

c. 40%

d. It is impossible to determine.

28.
The expected return for Stock V is 24.5 percent. If we know the following 

information about Stock Z, then what is the probability of the Dynamite state of the world occurring?

	 
	Return
	Probability

	 
	
	 

	Poor
	0.15
	0.2

	Lukewarm
	0.28
	0.7

	Dynamite!
	0.19
	?


a. 5%

b. 10%

c. 15%

d. 20%
29.
Ahmet purchased a stock for $45 one year ago. The stock is now worth $65.

During the year, the stock paid a dividend of $2.50. What is the total return to Ahmet 
from owning the stock? (Round your answer to the nearest whole percent.)

a. 5%

b. 44%

c. 35%

d. 50%

30.
Julio purchased a stock one year ago for $27. The stock is now worth $32, and 

the total return to Julio for owning the stock was 37 percent. What is the dollar amount of dividends that he received for owning the stock during the year?

a. $4

b. $5

c. $6

d. $7

31.
Francis purchased a stock one year ago for $20, and it is now worth $24. The

 stock paid a dividend of $3 during the year. What was the stock’s rate of return from capital appreciation during the year? (Round your answer to the nearest percent.)

a. 17%

b. 20%

c. 29%

d. 35%

32.
Gwen purchased a stock one year ago for $25, and it is now worth $31. The


stock paid a dividend of $1.50 during the year. What was the stock’s rate of return income during the year? (Round your answer to the nearest percent.)

a. 6%

b. 15%

c. 24%

d. 26%

33.
Gunther earned a 62.5 percent return on a stock that he purchased one year 
ago. The stock is now worth $12, and he received a dividend of $1 during the 
year. How much did Gunther originally pay for the stock?

a. $7.00

b. $7.50

c. $8.00

d. $8.50

34.
Moshe purchased a stock for $30 last year. He found out today that he had a –
100 percent return on his investment. Which of the following must be true?

a.
The stock is worth $30 today.

b.
The stock is worth $0 today

c.
The stock paid no dividends during the year.

d.
Both b and c must be true.

35.
Babs purchased a piece of real estate last year for $85,000. The real estate is 
now worth $102,000. If Babs needs to have a total return of 25 percent during the 
year, then what is the dollar amount of income that she needed to have to reach 
her objective?

a. $3,750

b. $4,250

c. $4,750

d. $5,250
The following information should be used for Questions 36-39.

Turnbull Corp. is in the process of constructing a new plant at a cost of $30 million. It expects the project to generate cash flows of $13,000,000, $23,000,000, and 29,000,000 over the next three years. The cost of capital is 20 percent. 

36. 
What is the payback period for this project?

a. 1.7 years

b. 2.2 years

c. 1.2 years

d. 2.7 years

37. 
What is the net present value of this project? (Round to the nearest million 
dollars.)

a.$10 million

b.$12 million

c.$14 million

d.$16 million

38. 
What is the internal rate of return that Turnbull can earn on this project? (Round 
to the nearest percent.)

a.41%

b.42%

c.43%

d.44%
39. 
What is the MIRR on this project? (Round to the nearest percent.)

a.36%

b.37%

c.38%

d.39%
40.
In evaluating capital projects, the decisions using the NPV method and the IRR 
method may disagree if

a.the projects are independent.

b.the cash flows pattern is unconventional.

c.the projects are mutually exclusive.

d.both b and c.

